oo = |:[]

5] of

® 3.5 ® 2.5 @ 5. 4 ® 2.10

@D 5,2



chet o] <1 47
Fol 4 27k 7 2 5 of
AL ot AU

® @A
oo @ @A
G m= Zac :

>
20
af>
<
k)



71N

2]

A

AF17t

m_.)

o

@ 1007 ® 1509

® 2504

® 504

@ 2009



A

480




mjn

£ Hi ofjeF Zo] A

H

® 97t

50

25

@ 87t

50

Lo A @&l A
® 771

e

Ao
75
® 67t

@D 57t



27} 5emel A-SH

ki

@

@ 7}27F 8cm, AIZ27F 9em, =0]7F 3emQl F-S-HA

Al

@ 7F27F 3ecmo]A, AI27F 6 cm, =°]7F 5em?e

© 217} 9216 em? o] AL

ofr

fvzel

7(

—_

o]7F 16 cm? @

TR

_(ZIL

B!

o



